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Topic:- CDP_P2_S1_CTET

1)
Assertion (A) : The physical development of children is important as it also influences a
child’s social and cognitive development.

Reason (R) :  All aspects of development are inter related in childhood and greatly
influence each other.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 28][Question Description = S19_CDP_Q001]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

2)
The principle that suggests growth follows a pattern beginning from head and then
proceeding to the rest of the body is
(1) Proximodistal principle
(2) Cephalocaudal principle
(3) Principle of individuality
(4}  Principle of uniformity
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[Question ID = 29][Question Description = S19_CDP_Q002]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]
3)
refers to the process of predetermined unfolding of genetic dispositions,
(1) Maturation
(2) Scaffolding
(3) Adaptation

(4) Socialisation
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[Question ID = 30][Question Description = S19_CDP_Q003]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

4)



According to Jean Piaget which of the following factors are influential in determining the
course of cognitive development ?

(i) Maturation

(i) Conditioning

(iii) Punishment

(iv) Activity

(vl Social experience
(1) (i) (i), (iv), (v)

(2) (i), (iid), (iv)

(3) ), (iv), (v)

(4) (i), (1), (ui), (iv), (v)
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[Question ID = 31][Question Description = S19_CDP_Q004]

1. 1 [Option ID = 121]

2. 2 [Option ID = 122]

3. 3 [Option ID = 123]

4. 4 [Option ID = 124]

5)
According to Jean Piaget a child who believes that water when poured from one container
to another, gains or looses in quantity depending on the shape of the second container :
(1) has not attained conservation
(2) has not mastered object permanence
(3) is limited in thinking due to animism
(4) is unable to perform seriation
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[Question ID = 32][Question Description = S19_CDP_Q005]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

6)

The correct sequence of stages of cognitive development given by Piaget is :

(1)
(2)
(3)
(4)

Sensorimotor stage, Pre-Operational stage, Concrete Operational stage, and Formal
Operational stage
Pre-Operational stage, Concrete Operational stage, Sensorimotor stage, and Formal
Operational stage
Formal Operational stage, Concrete Operational stage, Pre-Operational stage, and
Sensorimotor stage

Sensorimotor stage, Concrete Operational stage, Pre-Operational stage, and Formal
Operational stage
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[Question ID = 33][Question Description = S19_CDP_Q006]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

7)

Neha resists eating sweets her mother has got for guests because she might get caught.
According to Kohlberg's theory Neha is at which stage of moral development ?

(1)
(2)
(3)
(4)

Instrumental purpose orientation
Punishment and obedience orientation
Universal ethical principles

Good boy-good girl orientation
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[Question ID = 34][Question Description = S19_CDP_Q007]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]
8)
As per theory children learn through interaction with more knowledgeable
peers and adults.
(1) Lev Vygotsky's
(2) Jean Piaget’'s
(3) Howard Gardner's
(4) Lawhrence Kohlberg
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[Question ID = 35][Question Description = S19_CDP_Q008]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]
9)
What plays an important role in cognitive development according to Lev Vygotsky ?
(1) Conditioning
(2) Reinforcement
(3) Cultural context

(4) Heredity
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[Question ID = 36][Question Description = S19_CDP_Q009]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

10)

In Howard Gardner’s theory of intelligence, the ability to manipulate both the body and
objects is referred to as :

(1) Logico-mathematical intelligence
(2) Bodily-kinaesthetic intelligence
(3) Interpersonal intelligence

(4) Linguistic intelligence
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[Question ID = 37][Question Description = S19_CDP_Q010]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

11)
Visual-spatial intelligence includes :

(1) The capacity to think in images and pictures, to visualise accurately and abstractly.
(2) Sensitivity to rhythm, pitch, meter, tone, melody.

(3)  Ability to comprehend and create stories and poems.

(4) Ability to classify natural forms such as animal and plant species and rocks and
Mountain types.
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[Question ID = 38][Question Description = S19_CDP_Q011]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

12)

A teacher’s remark to boys in a co-education class, “Be strong and don’t behave meekly
like girls” would encourage :

(1) gender equity
(2) gender stereolyping
(3) gender role Hexibility

(4) gender equality
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[Question ID = 39][Question Description = S19_CDP_Q012]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

" What should be the pedagogical strategies in a classroom with diverse learners 7

(1) Reasonable accommodation
(2) Standardized assessment

(3) Decontextualized curriculum
(4) Inflexibility in approach
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[Question ID = 40][Question Description = S19_CDP_Q013]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]
14)
Which of the following is an important aspect related to assessment for learning ?

(1) Single strategy of assessment can provide complete information about a child’s
progress and learning

(2) It serves to observe changes in learning progress over time
(3) It does not identify individual and specific needs of all children
(4) It helps teachers to identify children who are mentally retarded

Hree % o geiae &1 UE HEEUl Uee # E ?
(1) oegisa =1 fwdt v & wEifa 9 o= =t yifa 9 sifiem 51 gegol sl &1 9 fen =
Tl &1

(2) g% HiEa H 89 Sl agend 1 Aaeihd w6
(3) I == #1 =t 9 fafore sel it 58 gemmn
(4) = foemi =1 wATaE Hedlg 9 9= & vEard H 9w

[Question ID = 41][Question Description = S19_CDP_Q014]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

" Aim of Assessment should be to :

(1) Induce fear and stress in the students.

(2) Create feeling of insecurity and inferiority.
(3) Enable comparison among students.

(4) Aid in the process of teaching learning,
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[Question ID = 42][Question Description = S19_CDP_Q015]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

16)
Assertion (A) : Only special children benefit from inclusive education.

Reason (R) : The concept of inclusive education is based on the philosophy of
addressing only learners with some impairnment.

Choose the correct option.

(1) Both {A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3} (A) is true but (R) is false

(4) Both (A) and (R) are false
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1[Q:1¢[a;tith |I|; =1:I;]][Question Description = S19_CDP_Q016]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



") To cater to students from disadvantaged backgrounds teachers should practise :

(1) Social exclusion

(2) Social marginalization
(3) Standardized curriculum
(4) Differentiated instruction
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[Question ID = 44][Question Description = S19_CDP_Q017]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

18)

is an example of assistive technology to aid mobility for students with
locomotor disability,

(1)  Wheelchair

(2) Large print books

(3) Word prediction software
(4) Tactile materials
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[Question ID = 45][Question Description = S19_CDP_Q018]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

19)



Difficulties in mathematical concepts and computation are typical characteristics of
students with :

(1) Dyscalculia

(2) Dwslexia
(3) Dysgraphia
(4) Aubsm
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[Question ID = 46][Question Description = S19_CDP_Q019]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

20 Typical identifying characteristics of creative children include :

(1) Rigidity for ideas

(2) High tolerance for boredom
(3) Preference for complexity
(4) Convergent thinking
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[Question ID = 47][Question Description = S19_CDP_Q020]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]

3. 3 [Option ID = 187]
4. 4 [Option ID = 188]



21 - o .
) Meaningtul learning involves :

(1) Provisions of rewards and punishment
(2) Opportunities to interact with each other
(3) Reflections on learning how to learn

(4) Opportunites for competition with peers
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[Question ID = 48][Question Description = S19_CDP_Q021]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

22)
Assertion (A) : Learner-centred approach is one where textbook is the centre of all
learning,
Reason (R) : Students in middle school learn best when asked to reproduce the textbook
as it is.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both {(A) and (R) are false.
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[Question ID = 49][Question Description = S19_CDP_Q022]
1. 1 [Option ID = 193]



2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

23) : .8 3
In a socio-constructivist classroom, learning :

(1) Is a permanent measurable change in the child’s behaviour

(2) Is a process of coconstruction of knowledge

(3) Happens by pairing of a stimulus and response

(4) Takes place when the students are offered positive reinforcement
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[Question ID = 50][Question Description = S19_CDP_Q023]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]
24)
should be the basis for a conducive classroom environment for learning.
(1) Principles of conditioning and reinforcement
(2) Competition and individualism
(3) Cooperation and collaboration
(4) Segregation and labelling
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[Question ID = 51][Question Description = S19_CDP_Q024]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

25)



Assertion (A) : Encouraging middle school children to make intuitive guesses and

prompting them to look for different ways is an effective strategy to
promote problem-solving skills.

Reason (R) : Children learn through the processes of discussion and thinking of

multiple perspectives.

Choose the correct option.

(1)

2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of {A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true but (R) is false.

Both {A) and (R) are false.
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[Question ID = 52][Question Description = S19_CDP_Q025]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

26 1 g
) Cluestions in the classrooms :

(1) Should be asked by the students and answered by the teacher only.
(2) Should be asked by the teacher and answered by the students only.
(3) Should not be asked or responded by anyone.

(4) Should be asked and answered both by the students and teachers.

Fe o 99T

(1)
(2)
(3)
(4)
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[Question ID = 53][Question Description = S19_CDP_Q026]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

" Intrinsic motivation amongst students can be increased by :

(1) Offering materialist rewards
(2) Negative reinforcement

(3) Fear of punishment

(4) Focusing on the joy of learning
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[Question ID = 54][Question Description = S19_CDP_Q027]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

) Students in middle school construct knowledge and make meaning through :

(i)  Active exploration

(i) Working on abstract problems

(ili) Enguiry and experimentation

(iv) Interaction with teachers and peers
(1) (i) (iii)

(2) (i) (i) (iv)

(3) (i) (i) (iv)

(4) (i) (i) (iii) (iv)



n faeem & 2 A wfmed & g/ 3@ = fauio #7303 a1 e €7

(iy =fFa s=mm
(ii) 3 FEENA W HH FE
(iii) YBWS AR wEM

(iv) TommRi iR =fael & g @
(1) (1) (1m)
(2) (@) (i) (iv)
(3) (i) (iii) (iv)
(4) (i) (i) (iid) (iv)
[Question ID = 55][Question Description = S19_CDP_Q028]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

29)

Teachers should encourage children to think of ability as and failure as

(1) Fixed; shameful and humiliating,

(2) Incremental; an oppportunity for improvement.
(3) Fixed; an opportunity for improvement.

(4) Incremental; shameful and humiliating,
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[Question ID = 56][Question Description = S19_CDP_Q029]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

30 would be a contributing factor for children’s academic failure.

(1) Collaborative learning

(2) Inclusive classroom

(3) Decontextualised curriculum
(4) Meaningful learning
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[Question ID = 57][Question Description = S19_CDP_Q030]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

Topic:- SS_P2_S1_CTET

1)
Match the following in the context of rulers of Delhi during medieval period and choose
the appropriate option.

A B
(a) Tomaras iy 1175 - 1192
(b) Ananga Pala (i) 1165 - 1192
(c) Chauhans (iiiy Early 12" Century - 1165

(d) Prithviraj Chauhan (iv) 1130 - 1145
(1) (a)(ii), (b)-(iv), (c)-(iii), (d)-(i)
(2)  (@)-(iid), (B)-(iv), (c)-(ii), (d)-(i)
(3)  (a)-(iv), (b)-(1). (c)-(iii), (d)-(ii)
(4)  (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

e | faeel & wesl # "oy | frefafan @ fogm #ifsm, if g fawes =1 99

Fifan |
A B
(a) TR (i) 1175 - 1192
(b)  SHTIEA (ii) 1165 - 1192
() em (iii) S 12 9 wEEE - 1165

(d) geEEEEE (iv) 1130 - 1145
(1) (a)(ii). (b)-(iv). (c)-(iii), (d)-(i)
(2)  {a)(iii), (b)=(iv), (c)-(ii), (d)-(i)
(3)  (a)(iv). (b)-(i). (c)-(iii). (d)-(ii)
(4)  (@)(), (b)-(ii), (c)-(iv), (d)-(iii)

[Question ID = 58][Question Description = S19_Social Science_Q031]



1 [Option ID = 229]
2 [Option ID = 230]
3 [Option ID = 231]
4 [Option ID = 232]

A wpN =

2) In the ancient Tamil Nadu the settlement of were called Ur.,

(1) merchants
(2) nobles

(3) peasants
(4) craftsmen

yEE A H_ # At #19 (Ur) FE 9
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[Question ID = 59][Question Description = S19_Social Science_Q032]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

" Match the following in the context of rulers of the fall of Mughal empire.
A B
a) Farrukh Siyar (iy 1759 - 1816
b) Shah Alam [l (i) 1713 - 1719
¢) Ahmad Shah (iii) 1754 - 1759
Alamgir 11 (iv) 1748 - 1754

(@(i). (b)-(iii), (c)-(iv), (d)-(ii)
(a)-(iv). (b}-(ii). (c)-(i). (d)-(iii)
(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
(@)-(iii), (b)-(1), (c)-(ii), (d)-(iv)
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B I =

[ =
o



e W9 F T99 & He 1 fefatea #1 foem w5 )

A B

(a) wEEEW (i) 1759 - 1816
(b) ¥mE sem fgdm (i) 1713 - 1719
(c) HAEHEYIE (iif) 1754 - 1759
(d) wemn fedm (iv) 1748 - 1754

(1) (a)-), (b)-(iii), (c)-(iv), (d)-(i1)
(2)  (a)(iv), (b)-(ii). (c)-(i), (d)-(iii)
(3} (a)-(i), (b}-(), (c)-(iv), (d)-(iii)
(4)  (@)-(ii), (b)-(i), (c)-(ii), (d)-(iv)

[Question ID = 60][Question Description = S19_Social Science_Q033]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

4 F = = o
) Coparcenary inheritance’ means

(1) favourite son inheriting his father’s estate

(2) eldest son inheriting his father’s estate

(3) division of the inheritance among all the sons and daughters
(4) division of the inheritance among all the sons

"TATER B HEEEE ue = oA 8 |
(1) THR O3 F e fym %1 dofs famem | foemn
(2) = 14 %l 3197 fum =i Hufs fewwa § o
(3) Tt qE 9 9 F I farm w1 faurse

(4) |V TE F = e = T

[Question ID = 61][Question Description = S19_Social Science_Q034]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

*) The devotional hymns written in Marathi are known as :
(1) Stotram

(2) Bhajanam

(3) Prabandham

(4) Abhangas



TR fol v TRl S e am A s e g7

(1) ==
(2) W=
(3) wauH
(4) =¥

[Question ID = 62][Question Description = S19_Social Science_Q035]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

6)
Read the following statements about saints lived in present-day Maharashtra and choose
the appropriate option.
(A) Thirteenth to the seventeenth centuries saint-poets rejected all forms of ritualism
and social differences based on birth.

(B) These saint poets preferred earning their livelihoods and humbly serving fellow
human beings in need.

Options :

(1) Both (A) and (B) are true.
(2} Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4)  (A) is false, (B) is true.

wireE HeRre # 1 |l & 9 ¥ frefates s # vf o s e = g Fife)

(A) EEl ¥ HAEEl IR H gU R Al A W gHR F wEiE o 9 enafa sl W
ey farm

(B) ¥ wfa d@di 3 Ie-1E #9m 3in farwangEs seave medt i 51 39 =19 g siEa
T =1 sifus wee i/

fawe

(1) (A) 3 (B) 51 Tt &

(2) (A) #R (B) 1 Tera ¥

(3) (A)F& & wfFa (B) 7em

(4) (A) TR & A (B) WE E)

1[Q:1¢;;$)gr; |||3 :zzzl]muestion Description = S19_Social Science_Q036]

2. 2 [Option ID = 250]

3. 3 [Option ID = 251]
4. 4 [Option ID = 252]



7)

Which of the following are matched correctly ?

(A) Bakhshi - Officer in charge of military organization.

(B) Sadr - Minister in charge of religious and charitable patronage.
(C) Igtadars - Military commanders

(D) Kotwal - Officer in charge of town administration.

Options :

(1) Only (C) and (D)

(2) Only (A), (B) and (O)

(3) Only (A) and (B)

(4)  Only (A), (B) and (D)

Fr T8 gk § 2
(A) =@ - A daeasE

(B) HE - uifd® 9 ymiY foFu w9 ot & =54
(C) TEER - ¥ Faiet

(D) wiFEw - TR =1 gfera s
faerey -

(1) & (C) 3R (D)

(2) aE (A), (B) 3 ()

(3) Ee (A) 3 (B)

(4) ¥ (A), (B) 3 (D)

[Question ID = 64][Question Description = S19_Social Science_Q037]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

8)
Which of the following terms was used in Madhya Pradesh for ‘shifting cultivation” ?
(1) Bigha
(2) Bewar
(3) Baiga

(4) Mahal



Frefafas § | F7m v= o w29 ¥ gy ad@’ % fae e g ?

(1)
(2)
(3)
(4)

ElE|
g
Ll

wew

[Question ID = 65][Question Description = S19_Social Science_Q038]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

9)

Read statements A" and "B’ considering the social changes in the early nineteenth century
and choose the correct option.

(A)

(B)

(1)
(2)
(3)
(4)

From the early nineteenth century, we find debates and discussions about social
customs and practices taking on a new character.

One important reason for this was the development of new forms of communications
like books, newspapers, magazines and pamphlets were printed.

Both (A) and (B) are true and (B) explains (A).

Both (A) and (B) are true but (B) does not explains (A).
(A) is true but (B) is false.

Both (A) and (B) are false.

1991 WEl % sy ° "t ufEdq & Hesl | ol ‘A v B 1 9 a9 wa fawmen 4 |

(A) :

(B) :

(1)
(2)
(3)
(4)

19 91 WE1 F yEAE ¥ @ o giew fGfa-faE o ge-ae=med 4 aEfn 9em-
anfed sir ==is %1 e ager femn gm ¥

THEI U 218 99 48 91 T Wan &% 79 wiwl 99, fFad, srean, 9 o ud e
1 ferehrd &1 7@ o1

31 (A) T (B) W&t § 3 (B), (A) 71 = w1 ¥

2T (A) T (B) 7 ¥ TR (B), (A) F1 =amEn T F ¥
(A) =@ & T (B) 7em &1

T (A) 79 (B) e E

[Question ID = 66][Question Description = S19_Social Science_Q039]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

10)



Read statements (A) and (R) and choose the correct option,

Assertion (A) : As a child Dr. B.R. Ambedkar experienced caste prejudices in his daily
life.

Reason (R) : Father of Dr, B.R. Ambedkar taught at an army school.

Choose the correct option.

(1) Both {A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A} is true but (R) is false.

(4) Both (A) and (R) are false.

FUAT (A) UH (R) T 9 7 HE ITH T

HYA (A) : 1. AR TSR T H T Fi fee | snfoe wera sem o
TIUT (R) : =1 9130 H=eEd & Yo 0% 53F% =5a § 1ed 41

we faweg 41

(1) (A) i (R) 21 =& & =i (R) W =amen & & (A) 510

(2) (A) 3 (R) ZF1 wel €, &ifa (R) 9 =men =9 & (A) F

(3) (A) HE &, @A (R) TeTE 2

(4)  (A) 3 (R) SH1 Tew

[Question ID = 67][Question Description = S19_Social Science_Q040]
1. 1 [Option ID = 265]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]

4. 4 [Option ID = 268]

11)

Read the statements (A) and (R) and choose the appropriate option.

Assertion (A) : E.V.Ramasamy Founded Self Respect Movement in the erstwhile Madras
Presidency.

Reason (R) : He did this to make people to fight against the caste based discrimination
within society.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.



frafefem w9 (A) @R (R) #1 ofeu i Svgsm fawen =1 =99 Fifa)
WY (A) : LA, THEENE A YAgE HEE YEEE | mnfveE sriEeE 1
THAUT (R) : T4 TE Sl 1 9u § it SevE % faene ged 5 fem faen
(1)  (A) #i7 (R) 2F1 =&t € 32 (A) 1 (R) T8 s = €
(2) (A) i (R) EFT |El & @ (A) F (R) TE =302 76 F0 8
(3) (A)HEl 8 & (R) ToE B
(4)  (A) #T (R) 2HT e ¥
1[Q:1e[:;titgn |I|; =Zf;§]][Question Description = S19_Social Science_Q041]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

" Who opposed the Jinnah's two-nation theory ?

(1) Sardar Vallabhbhai Patel
(2) Khan Abdul Ghaffar Khan
(3) Vir Savarkar

(4) Maulana Azad

fma fomn % 21-1e Togia = fady fan 2

(1) HER Fe9 95 92

(2) @M el TEER EH

(3) R HEET

(4) HE HATAE
[Question ID = 69][Question Description = S19_Social Science_Q042]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

") Consider the following statements regarding revolt of 1857.

E A massive rebellion started in May 1857,

II. It was the biggest passive resistance to colonialism.

[II. Sepoys and common masses participated in large numbers.
Which of the following statement(s) is/are incorrect ?

(1) Onlyl

(2) Onlyll

(3) BothlandIl

(4) Both I and 11T



1857 % fage % an o frafafes Fa w fa=m #ifa

() =8 1857 § it fage 1 s gan

(I) =% SufEwEs # fovg wad a2 smiaddt () s1ikem o
(11 =o foofed dw w0 gemm 3 w2t gem § am e

FH 1 Y T T g/ 2

(1) = ()

(2) A (1)

(3) (1) #@(n =

(4) (1) 3 (10 5E

[Question ID = 70][Question Description = S19_Social Science_Q043]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]
14)
Consider the statements (A) and (B) about "Subsidiary Alliance” and choose the correct
option,
(A) Indian rulers were allowed to have their independent armed forces.
(B) Indian rulers were required to pay to the East India Company.
(1) Both {A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false,
(4) (A) is false, (B) is true.

(A) 2R (B) oAl W 'Here |’ & desd 1 famn #ifau v wl fawen = =39 =i
(A) YIEE TR 1 3791 Tdd 995 41 T &l 3t o |
(B) SIWGIA WHE] 1 552 Sl 941 =l YIAM w1 921 911

(1) (A) 3 (B) &1 o F)
(2) (A) 7 (B) FFi e F
(3) (A) =& & @A (B) e B
(4) (A) o & wifERA (B) TR R

[Question ID = 71][Question Description = S19_Social Science_Q044]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]



") Consider the following pairs :

Planet Time taken
{for one spin on axis)

L. Uranus - 17 hours 14 minutes
[I. Neptune - 16 hours 07 minutes
[Il. Saturn - 25 hours 40 minutes
IV. Mars - (9 hours 56 minutes

How many above mentioned pairs are correctly matched ?
(1)  Only one

(2}  Only two

(3)  Only three

(4)  All the four

Tr=1 i . fer=me ife

e 3O g 9T YU 1 T
() g&=E - 17E2 14 e
() === - 16 W2 07 iR
(I =5 - 25Hz40 e
(IV) e - 925 foTe
T § T gm wd gafaa €7
(1) A T
(2) ad Tl
(3) wHEE T
(4) @ =R
1[Q:1¢[ecs)zitci>0r:] |||3 =21§j|[Question Description = $19_Social Science_Q045]

2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

16)
Which of the following statements about the International Date Line is correct ?
(1) International Date Line is a straight line joining the North-Fole to South-Pole.
(2) International Date Line passes through water body only.

(3)  International Date Line passes through both water and land bodies.
(4) International Date Line roughly follow 0% longitude.



FreEmfffamFm i i s TR T g ?

(1) o fafa v us il v € o 3w a1 2Rl gg | st §)
(2) e fafl v ee Seig um H E et g1

(3) e fafa e seia @ T SE a8 de e )

(4) s fafy wEn s 0° 290 1 AT (HY-HE) F6E 8

[Question ID = 73][Question Description = S19_Social Science_Q046]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]
17)
Read the following statements (A) and (R) and choose the appropriate option given below.

Assertion (A) : By measuring the angle of the Pole Star from yvour place, you can come
to know the latitude of your place.

Reason (R) :  The distance from the equator to either of the poles is one-fourth of a
circle round the earth.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

frafefen wuai (A) @ (R) 1 ofew 9 3995 faseg #1997 Fifaw)
HY (A) : AT T Y YT T F R0 GIR AT AT I F AN FTH R
HAW (R) : Taqad 90 2 96 @F y& & 99 1 gl g F 96 @1 F g0 1 e #)
fa=ea -
(1) (A) =i (R) 2F1 =é € a9 (R), (A) =1 wE =90 &
(2) (A) 3 (R) 21 TEt € 941 (R), (A) %1 5 = 76 &
(3) (A) T & 9= (R) oA B
(4) EFT (A) 91 (R) e #
1[Q:1<[eos;it?::] IB =;;31j|[Question Description = S19_Social Science_Q047]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

18)



When we travel from an Indian city to Tokyo (130° 45°E), the capital city in Japan, how
many hours we will gain or lose (let us ignore the time required to reach the city) ?

(1) Gain about 4 hours

(2) Lose about 4 hours

(3) Lose about 12 hours

(4) Lose about 8 hours

W4 BN UF A e 9 S #6290 (130° 45° 74 ) F A o € 99 ' fEed =
HAfa i I Tanii (v 7% Y54 F o ovH 9 Evas 999 F 8N TeieE #18) ?
(1) = 4 =2 sfem Hi

(2) TPV 4 52 TET

(3) E 12 W TEm

(4) T 8 HE TrEmiA

[Question ID = 75][Question Description = S19_Social Science_Q048]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

19) : ; s
The main minerals of oceanic crust are :

(A) Magnesium

(B)  Alumina

(C) Silica

(D) Nickel

Options :

(1) Only (A)

(2) Only (B) and (C)
(3) Only (A) and (C)
(4} Only (C) and (D)



(A)  Brfifyrm

(B) Wfr

(c) Tafes

(D) Fifww
fa=eg -

(1) Fad (A)

(2) %= (B) 41 (C)
(3) A (A) 3R (C)

(4) FAE (C) 3 (D)

[Question ID = 76][Question Description = S19_Social Science_Q049]
1. 1 [Option ID = 301]

2. 2 [Option ID = 302]

3. 3 [Option ID = 303]

4. 4 [Option ID = 304]

20)

A person had visited a region and found trees such as cak, ash, beech and birds like
pheasants, monals. Which one of the following vegetation regions he/she may have
visited ?

(1) Tropical evergreen forest

(2) Temperate deciduous forest

(3) Coniferous forest

(4) Mediterranean forest

= =afa A TRt 4 = 9 e 2 =81 38 e, U9, = e F U a9 wiee, S st e ma
fre d 4 forg Toafa &3 =1 2 frm Bm ?

(1) TTRfEEYE HeEen 71

(2)  SiiTen goigmET 5
(3) WIFHR
(4) YHeA =T

[Question ID = 77][Question Description = S19_Social Science_Q050]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



") The growth of natural vegetation is very limited in which region ?

(1) Temperate region
(2) Tundra region
(3) Frigid zone

(4) Torrid zone

form 43 1§ aga @ oA Wt aer e § 2
(1)  virdren wHfzesd &

(2) IFEA

(3) v wizEd 4m

(4) IO HfeEutg =

[Question ID = 78][Question Description = S19_Social Science_Q051]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

2 Choose the correct option based on the statements (A) and (R) given below.
Assertion (A) : The water of the ocean is salty or saline.
Reason (R) :  Ocean water contains large amount of dissolved salts.
Options :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
{3) (A) is correct but (R) is incorrect.
(4) Both (A) and (R) are incorrect.

frefafaa o (A) T (R) F 219R W 9@ fGey &1 =94 #ifqu)
HYA (A) : TEEIE F T A0 41 @ w1 E |

WA (R) : TEETH & e | wa] "4 H Hel §1 @0 wd 6
famwe

(1) (A) % (R) EF1 |El & a1 (R), (A) i FE =0 €

(2) (A) 3N (R) <1 Hel & T (R), (A) 1 FE =0T 76 8
(3)  (A) T T W (R) T 2

(4) EFE (A) 791 (R) TETE E

[Question ID = 79][Question Description = S19_Social Science_Q052]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]



4. 4 [Option ID = 316]

) The depositional feature of the wind is called

(1) Loess

(2) Mushroom rocks
(3) Moraine

(4) Stacks

LG RE e i G
(1) g

(2) TAF T

(3) foire

4 =%

[Question ID = 80][Question Description = S19_Social Science_Q053]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

) The place where a river Hlows into another body of water is called
(1) Delta
(2) Levees
(3) Oxbow Lake
(4) River's mouth

fam =R W =i 72 f5 @= sonfo d foomd & 39 e §

(1) ==

(2) weEEy
(3) =S
(4) 7

[Question ID = 81][Question Description = S19_Social Science_Q054]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]



) Consider the following list of characteristics and identify the type of forest.

(A) The forests are so thick and receive rainfall throughout the year.

(B) Rosewood, ebony, mahogany are the important trees of these forests.
(C) These forests occur in the regions near the Equator and close to tropics.
Options :

(1) Tropical deciduous forests

(2) Temperate evergreen forests

(3) Coniferous forests

(4) Tropical evergreen forests

ot weitarg weil 92 fa=m #ifem i a9 & 9en &1 ge=e Fifag )
(A) AT WA & o =e w9 i e

(B) T9EE, HETH, HENTHI 59 WHR % 541 % Heey 941 §
(C) 3 =7 ves mE #ir 3o Hza F 9| 9w e E)
IEE T

(1) SoeRfedE yoiawl =

(2) i HEEER &9

(3) VigpuE 99

(4) T HEEER 94
[Question ID = 82][Question Description = S19_Social Science_Q055]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

26)
Sustainable development refers to :
(1) Conservation of mainly renewable resources.
(2) Limated use of resources.
(3) Saving resources for our children and relatives.
(4) Conserve all kinds of resources, use only as per requirement and save for future.



et forers = 299 2
(1) TeTa: et gl = g
(2) HEEET o i 29
(3) &9 Haml wE datadi & o JaeE & 996 |
(4) It T * HAE] G FE, A AEIGha A 39 e a9 vfas « fen
Eipl
[Question ID = 83][Question Description = $19_Social Science_Q056]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

27)

China, Malaysia and Indonesia are leading producers of which of the following
minerals ?

(1) Lead
(2) Tin
(3) Nickel
(4) Zinc

=, wefer @i w=Enfn e 4 9 fen afe & sl saes an §7

(1) &=
2 fa
(3 FFe
(4) A

[Question ID = 84][Question Description = S19_Social Science_Q057]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

) In terrace farming, sides of each plot are raised in order to

(1) protect the seeds from pests

(2) retain water

(3)  prevent fertilizer from being swept away
(4) create distance among different crops



i El § FHE % 212 2R & fEA w1 T 2 w9 & afe |
(1) FHE FI Hi2 o 909 9 Hh
(2) UF S F e T @
(3) WEE =TS
(4) FHE % 99 W = TN HF
1[Q:1?;titgn |I|; =3:;3]][Question Description = $19_Social Science_Q058]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

) Permanent shops in a market are those which have
(A) people employed on a permanent basis.
(B) license from the Town Panchayats and Municipal Corporations.
(C) been functioning for more than 10 years.
(D) been located in large cities.
Choose the appropriate option.
(1) (A}, (B) and (C) only
(2) (A) and (B) only
(3)  (B). (C) and (D) only
(4)  (A), (C) and (D) only
TFAR YR A A B

(A) W1 F Fe=r Frafoa #m &

(B) Tormer wrm v WerEw iR T o endEE dm
(C) St1oad 9 sifh g 9 gl 83 ¢

(D) it ;a2 el o gt ¥

IwgE faaed 1 9 -

(1) = (A), (B) 31 (C)

(2) e (A) #H (B)

(3) #Aa (B), (C) ¥R (D)

4) FEEA (A), (C) ¥ (D)

[Question ID = 86][Question Description = S19_Social Science_Q059]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



*)" The elected members in a Municipal Corporation are called :

(1) Senators
(2) Delegates
(3) Executive
(4) Councillors

1 fmg o =7 T wEed e
(1) #HH

(2) whaffy

(3) AfemE (e )

(4) g

[Question ID = 87][Question Description = S19_Social Science_Q060]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

V' Who appoints the Chief Minister and other Ministers ?

(1) The Prime Minister

(2) The President

(3) The Governor

(4)  The Chief Justice of High Court

AW $AR 9 HEEl 1 FW e W 7

(1)  WEFHE
(2) refd
(3) T

(4) = FEEE F HE =AEH

[Question ID = 88][Question Description = S19_Social Science_Q061]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

32)



Read the tollowing statements (A) and (R) and choose the appropriate option given below.

Statement (A): Debt is a major cause of distress among farmers which has also resulted
in many farmers committing suicide.

Statement (R): Small farmers borrow money from money lenders to purchase seeds,
fertilizers and pesticides, ete. and unable to pay back their loans.

(1) Both {A) and (R) are true and (R} is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

frafafaa w94 (A) 390 (R) W fa=m 1 ol 39g=n faseq 94
WUF (A) : F9 HEE H1 fE9el = = w0 99 T §, fowe 9w 9 e w5 feee A
HIE 7% FL o E

FUA (R) : B fFami =1 Wi, TE 9 HIARe S8 JHE i w@liE * o anEd 9 %9
# ford = = T = 1 Wit €
(1) (A) 37 (R) SF1 581 § 31X (A) 1 (R) T =30 &t 81
(2)  (A) ¥ (R) 261 =& € #fF (A) F(R) 72t =3 & £
(3) (A) @ T &f (R) T )
(4) (A) 2 (R) FH1 e 7
1[.Q:J?;;it?;] |I|; ==385<§]][Question Description = S19_Social Science_Q062]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

**) Which kind of labour is prohibited by law in India ?

(A) Bonded

(B) Casual

(©)  Daily wage

(D)  Unorganized

Choose the correct option from the codes below :
(1) Only (D)

(2) Only (A)

(3)  (A) and (B)

(4} (B), (C) and (D)



i H fore o2 & 9m F wEE R iEta fem mm 2

(A) W

(B) =fafEm

(C) feerst

(D) wEfEa

a1 fau =31 4 | wet fawen &1 g w10
(1) =4 (D)

(2) A (A)

(3) (A) #W (B)
(4)  (B), (C) ¥ (D)

[Question ID = 90][Question Description = S19_Social Science_Q063]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

34 ; : ; 2 b
) The main reason behind having more than one level of Government in India is :

(1) Vast number of communities

(2) Security of the border areas

(3) To appease the Princely States

(4) Familiarity of the system during the British Rule

I | W U s WA F e A
(1) T9erEl Fi 98 Fe&m

(2) Hiid &=+ g

(3) ool # q= Fen (HgE we)

(4) Tafzw sm F 999 =E=n F1 5=91 AFEE

[Question ID = 91][Question Description = S19_Social Science_Q064]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]



) Consider the following statements.

(A) Boys make a better Scout’s leader than girls
(B) Girls are good at playing football

(C) Girls are gentle and good care-givers

(D) Boys are rough and bully

Which statements may foster “Stereotyping’ ?

(1) (A), (B) and (C)

(2 (A) (C) and (D)

(3) (B} and (C)

(4)  (A) and (B)

frerfefias oAl T faam Fifem

(A) TFREl F1 gE H T5F UF deal T A a0 8
(B) TRl weala @em § =t At ¥

(C) Rl dreg (Fime) @ st Smvre S arel St 8
(D) wEh Zan &1 30 #n &

1A # WA wfgafea 1 difha w3 # 2

(1) (A), (B) #IR (C)

(2) (A), (O) # (D)

3 (B3 (Q

(4) (A) =R (B)

[Question ID = 92][Question Description = S19_Social Science_Q065]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

**) Which of the following consists Parliament of India ?

(A) Rajya Sabha

(B) Lok Sabha

(C) State Legislative Assemblies
(D) The President

Choose the correct option :

(1) (A). (B) and {C)

(2) Only (A) and (B)

(3)  Only (B) and (D)

(4)  (A), (B) and (D)



foetfafaa & 34 @ wE 1 wue 99n § 2

(A) T=IHYT

(B) wEREW

(C) 79 faum aw

(D) regyfd

e fawey = =9 wifan

(1) (A), (B) 31 (C)

(2) EE (A) #HR (B)

(3) #ad (B) 3 (D)

(4 (A), (B) 3R (D)
1[.Q:n[a;;itci>or:] I|I; ==3'iz]][Question Description = S19_Social Science_Q066]
2. 2 [Option ID = 370]

3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

A secular state, according to Indian Constitution should

(1) encourage the dominant religion to bring other religions into its fold
(2) involve in religious activities for nation building

(3) not support any one religion

(4) not interfere in religious contlict in the country

A dfauE F wER o iy o =fi |
(1) WEIE! 96 1 3= 9491 F 9 ded @[ & o0 Yediied/ 4 w0
(2) e Famim & forn anfvi nfafafial o wive @
(3) T v w1 Tmedw = &
(4) & o wiftw g/ faEE o gmay 78 w0
1[Q:1e[:;titgn |I|; =397;1]][Question Description = S19_Social Science_Q067]
2. 2 [Option ID = 374]

3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

38)



“India has an integrated Judiciary System.”

Which of the following explains this sentence better ?

(A) A persom can approach higher court if they are not satisfied with the judgment of
the lower court.

(B) Decisions made by the higher court are not binding on the lower court.

Choose the correct option :

(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false,

(3)  Only (A) is true.

(4) Only (B) is true.

"N % WTE Ui s e g1

frefafas § 4 37 o 0 T 7 ST e Fm ¥ 2

(A) = 3= =IEEE o W & SR =9 fraell e & ee 9 |9 @l g
(B) Fudl srerdl g fo mu fofg fael swrel W arers 6 )

el fasey =1 =97 i

(1) (A) R (B) T 7@ &

(2) (A) 30 (B) 2l e #

(3) wEE (A) HE ®

(4) Fae (B) TE

[Question ID = 95][Question Description = S19_Social Science_Q068]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

** The process of ghettiozation of a particular community results in
(1) its segregation from the rest of the society
(2) diversification of its culture
(3) protection of minorities
(4) its social empowerment



ol TEmA * SRS F wiEE & e g # |
(1) =9 91 5919 § FeE
(2) T Gpfa w1 fafasirm
(3) HTIHEEE & T
(4) FAF AFIEF F9EE
[Question ID = 96][Question Description = S19_Social Science_Q069]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

40)

Which among the following is a step towards recognizing street vending as part of right
to livelihood ?

(1) Creating trading zones in towns and cities

(2) Barming vendors on streets

(3)  Replacing vendors with small shops

(4) Imposing taxes by local government on street vendors

MY 2R 3E- T IE d=9 ) sifgweE F afran ® w1 A #6 uw aon Frefatea 9
W N UF FeH 6 ?
(1)  F2nY i 30 -1 GA 991 F o el % 2 ol 1 7 e e
(2) S % HEHi W WiaEtEad FE
(3) B gHET FI S H TR T A
(4) S 3 FEOY W HEA o9 9 A SERT A1 R @
1[Q:.l([eostitc')n I|I|:3) =3$Zj|[Question Description = S19_Social Science_Q070]
2. 2 [Option ID = 386]

3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

41)



Consider the following statements (A) and (R) and choose appropriate option.

Assertion (A) : Social science textbooks should have several narratives both fictional and
real.

Reason (R) : MNarratives enable the learner to understand ideas and institutions and
encourage introspection.

Options :

(1) (A) and (R) both are true, (R) explains (A).

(2) (A) and (R) both are true, (R) does not explain (A).
(3)  (A) is true, (R) is false.

(4) Both (A) and (R) are false.

Fraferfen w9Hi (A) o (R) W foar #Fifa qo 3w fawes &1 = Fifaw)

T (A) : TS a9 F1 TEATEF H S Fedli U8 aRafas S gaid 8 =9 |

AW (R) : Foia Afrmaaia =i founl 9 e # g9eE § gam a9 € aon af-iem
WieHTed &4 € |

fa=wea :

(1) (A) ¥ (R) ST T8 Z1(R), (A) F =ImEm a1 T

(2)  (A) =7 (R) 21 =@ £ 1(R), (A) T =amE T w0

(3) (A)®EE, (R)TEA €1

(4) =T (A) 790 (R) TETE B

[Question ID = 98][Question Description = S19_Social Science_Q071]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

42)

The basic purpose of teaching social sciences at school level is to make students
(A) informed and rational
(B) professional

(C) politically proactive

(D) socially active

Choose the appropriate option.
(1) (A), (B) and (C)

(2) (B), (C) and (D)

(3)  (A), (€) and (D)

(4)  (A), (B) and (D)



Tl T W HEhee T & faem & smamE Sgvd w6 e =6

(A) ST S WfhS T

(B) T9TEL EHAM

(C) Tritass &9 § 31fa J9fFa 7m0

(D) Tfas ®9 5 F9hHg 99

T faswen =1 =97 =ifam)

(1) (&), (B) R (O

(2) (B), (C) 3 (D)

(3)  (A), (O) # (D)

(4) (A), (B) ¥ (D)
1FQ:1<[eos;it?::] III; :32‘;}[Question Description = S19_Social Science_Q072]
2. 2 [Option ID = 394]

3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

43)

Which of the following is most appropriate to make students to understand various roles
and responsibilities of personnels of Mughal Administration ?

(1) Survey

(2) Role-play

(3)  Time-line

(4) Open-ended Questions

Tearanferi =t wer woree & widi =1 fafay yfaesi vd sl = 9w F o Sefata
T 4 wEivs R A W E?

(1) TEwm

(2) yfe Fvn

(3) HHH-H

(4) T A T wE

[Question ID = 100][Question Description = S19_Social Science_Q073]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

44)



If Parliamentary form of government is explained with an analogy of a school where
Principal is the Prime Minister and senior teachers are Council of Ministers. What would
be most appropriate analogy for school administrative staff ?

(1) Legislative

(2) The Opposition
(3)  Judiciary

(4) Executive

forarem % WigTd ¥ WY SR WER F HOEE T S F w6 ¢ S gaEE, gareEE #
e afies fovres, T wftes 1 et fereredt el 3 for % T v 9w A2

(1) Taufaem
(2y Taueg

(3) IR
(4) TS

[Question ID = 101][Question Description = S19_Social Science_Q074]

1. 1 [Option ID = 401]

2. 2 [Option ID = 402]

3. 3 [Option ID = 403]

4. 4 [Option ID = 404]

45)
A teacher begins her class by discussing the incidence of people gathering to discuss the
issue of land for cattle grazing. She is most likely discussing which of the following ?
(1) Urban Administration
(2) Panchavabt Raj
(3) Lower Judiciary
(4) Reservations

UF Tofer S0 Fan R SAEY-OY (WEe) =SRre % fau gyin | HeEfue ame w o= F T
T B @ S H1 9 W= g1 it § ) 9 Freafafas i 4 e w awfam e A wmi =

wWE?

(1) 0 T

(2) HEREE T

(3) e =maafe

(4)  mEm
[Question ID = 102][Question Description = S19_Social Science_Q075]
1. 1 [Option ID = 405]

2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]



46)

If any topic leads to heated discussion in a classroom, then what is expected from a
teacher ?

(1)
(2)
(3)
(4)

Teacher should silence all the students and defer the discussion indifinetly.
Teacher should deal firmly with open-mindedness and discuss such issue.
Teacher should scold those who are loud.

Teacher must strike off such topics in the beginning only.

Fa ¥ A i fawa gl vl %1 39 o € aE o e @ 9 e A 2

(1)

(2)

(3)
(4)

e =1 Bl il =1 wia o =ifen o oft== =61 afHives wa & o =i
e |

Tomr =1 U8 AW W == afgsEa § w0 =ifen @ e FEii s mu g w
=41 1 A HF |

o &1 W1 39 = Y 9 © # 3 2l e
T s H & UH faudi = we # = afen)

[Question ID = 103][Question Description = S19_Social Science_Q076]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

47)

Consider the following statements with respect to the role and responsibility of a social
science teacher and select the correct option.

(A)
(B)

(€)
(D)
(1)
(2)
(3)
(4)

She should keep students entertained with activities and projects.

She should be well informed educator who keeps herself upto date with the
contemporary events and issues.

Help learners establish a connect between life and school life day-to-day.
Ensure outcome based classroom environment to learners.

(A), (B). (€) and (D)

(4), (B) and (C)

(B) and (C)

(B). (€} and (D)



T e fage o w0 gfte siv fadier & ey o Fr we w faar w5 s ol
faweg )

(A)
(B)
(©)
(1)

(1)
(2)
(3)
(4)

= faenferi aa niafatel sl wfesmed F ey wEEe s =i

34 wF T e g e S AueEE weAel i uE % 99 9 =@ & giee wEdEt 81
foeafedi =1 57 SF iem oin whelt siae § deEy wnfm 50 | mes w0

Toenfelai 2 foru wwdften smenfa an S gifee %1

(A), (B), (C) ¥ (D)
(A), (B) 3T (C)

(B) & (C)

(B), (C) #R (D)

[Question ID = 104][Question Description = S19_Social Science_Q077]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

48)

While discussing gender roles in the classroom teacher should focus on which of the
following point ?

(A)
(B)
(©)

Household work is not a paid work so it cannot be counted as productive work.
Gendered issues are about women and girls alone.
Case studies can be used to show that the process of socialisation is not uniform.

Choose the appropriate option.

(1)
(2)
(3)
(4)

Only (A)
Only (B)
Only (C)
Both (B) and (C)



w4 Szt yfrwmsdl w == w0 ooy es = e | R sfus S e = ?
(A) i "5 wE W e e g W SAf 36 See® 1 A6 "A 9 =i |

(B) AfTeRan & 12 fak mfeensdi oin efori & 2§

(C) =% 29 % o for ameita & e us o 7 2 ¥ F9 =29 W wmm e

TEA 5
IR faFey =1 =9 Fifen
(1) e (A)
(2) %= (B)
(3) = (C)

(4)  (B) el (C) =l

[Question ID = 105][Question Description = S19_Social Science_Q078]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

49)
Which of the following example /examples in a classroom discussion could give better
understanding of gender equality ? Choose the correct option.
(A) National Anthem
(B) Story ‘Sultana’s dream’
(C) The suffragette movement
(D) Women's right to wear clothes of their choice
Options :
(1) (A), (B) and (C)
(2) (B), (C) and (D)
(3) (A} (C) and (D)
(4) Only (C) and (D)



HTR FE] 1 A A F99 F fon e A wm 4 a0 9= F 3 faw e we
) wift fagea 99
(A) W@
(B) ‘HeAm = T R
(C) wafuEr wigem
(D) afeensd F1 A9 96 F H92 To F Afuwn
e
(1) (A), (B) 7 (C)
(2)  (B). (C) 5en (D)
(3)  (A), (C) 741 (D)
(4) FFE (C) T (D)
1[Q:1<[e;tit?n |I|; =412 (1)]6][Question Description = S19_Social Science_Q079]
2. 2 [Option ID = 422]

3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

50)
A social science teacher wanted to discuss discrimination in her class. Which of the
following examples would be suited for the discussion ?
(A) Dr. Bhimrao Ambedkar’s childhood experiences
(B) Omprakash Valmiki's book “Joothan'
(C) Process of making the Constitution of India

Options :
(1) (A)and (B)
(2)  (B) and (C)

(3)  (A) and (©)
(4)  Only (B)



o TR st T s i e F e S s e & e g
S JUE I == F fau srg &

(A) = VE HaEE F 990 % SYE
(B) =AHuH FeHIfE H1 qHE e
(C) WA & Gia9H a9 i WiERa
fa=ea :

(1) (A) R (B)

(2) (B) 3R (C)

(3) (A)(C)

(4) A (B)

[Question ID = 107][Question Description = S19_Social Science_Q080]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

51)

After introducing the concept of discrimination, in a middle level social science classroom
a teacher wants her student to engage in critical inquiry about discrimination faced by
people at lower social stratum. Which of the following activity/ activities should find place
in her lesson plan ?

(A) Organizing debate on this topic.

(B) Delivering a lecture on *“What is discrimination 7',
(C) Collection of newspaper articles on discrimination.
Options :

(1) Only (A)

(2) Only (A) and (B)

(3)  Only (A)and (C)

(4)  (A), (B) and (C)



YEE F H909d F1 UEd 29 F UvEn Us Uit W %1 amtas f@Ee w5 o o fafies
ool =1 *Fre mfor o % el gr s fan o @@ deeEl’ B whees ste §
HieTe & et 2

= | | Fe wiafafamfafafimt s o 9 § e o g € 2
(A) Teu wm fawm w ar-faam = sweE F=o

(B) ‘WgviE = §' W UE SN S

(C) ¥=9E | Hafyd AEan F w0 @l ®1 UHH F

faerea -

(1) e (A)

(2) oES (A) 39 (B)

(3) A (A) 79 (C)

(4)  (A), (B) 7= (C)

[Question ID = 108][Question Description = S19_Social Science_Q081]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

52)
Read the following statements (A) and (R) on the role of social science teacher and choose
the appropriate option.
Assertion (A) : Social Science teacher requires understanding of multiple perspectives
on any economic or social issue,

Reason (R) : Issue such as poverty and caste-based discrimination may require more
than one kind of explanation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.



amifa g F s 1 yive @ Freafafes w95 (A) 99 (R) 31 9fze 5if 9w fawea =
T it |
wHAT (A) : Tt anfeder 3 amfes 92 W v amfes faam & s = aga gfesm 51 9ug
o =nfeT)
IO (R) : T 71 iwTE dR9E S5 R F FE a6 9 e #9654 92 Gl £
& fawen =741
(1) (A) 3 (R) 1 =&l § 3T (A) F1 (R) HE =men 54 &1
(2)  (A) & (R) 2 wE E @i (A) F(R) 9 =mEm @ g
(3)  (A) 9@ & afF (R) e &)
(4)  (A) T (R) T TEW F
[Question ID = 109][Question Description = S19_Social Science_Q082]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]
53)
Read the following statements with regard to social science curriculum development and
choose the appropriate option.
Statement (A): At middle stage onwards, students are required to study many topics
under the subject of social science and hence leading to curriculum load.
Statement (R): The major reason for curriculum load in social science is the way social
science curricular materials developed for school children which are non-
comprehensible.
Options ;
(1) Both {A) and (R) are true and (R) is the correct explanation of (A).
(2) Both {(A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) (A) is false but (R) is true.



arifae e weT=a & fawm & ded  frefafes w99l 9 ofge a3 fawmes =1 999

whifa

wHe (A) : At (fafes) @ F swia faafeli o anonfas faam & fawg & s =2 s
J-Faml = ST T F S w6 © A 98 WEE=El F YR F 98 B

HYA (R) : grfers fasm & wemsal i % fo ge @ e % s fog o 4 ool o=l &
fom anyfees faam Temsn o = fasm fem m # = s =6 8

fa=ea

(1) (A) & (R) 261 |ét & aun (R), (A)F o8 = 7

(2) (A) #(R) 21 |E E a9 (R), (A) F TE =0 6@ E

(3) (A) Hel ® W (R) 70§

(4) (A) T § 9 (R) 9E ®

1[Q:1¢[e;titgn |I|; =413; ;)][Question Description = S19_Social Science_Q083]

2. 2 [Option ID = 438]

3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

54)
Which of the following can be treated as secondary sources for a social science class ?
(1) Photographs from earthquakes in Bhuj and its description
(2) Edited volume of articles on Akbarnama
(3) Jawaharlal Nehru's letters to Indira Gandhi
(4) Mahatma Gandhi's book Hind Swaraj

fr=fafas o | frgs amfes faam =1 e o i 8 F e =1 9 7
(1) 9 yEe & 9 W e e e
(2) SFRECIE 9L Tl & Hiea Heherd
(3) Eem i ) fod T SR e % 0
(4) HERH M T e e me
1FQ:1¢[e;;it?; Ilg ==414:]1 1[Question Description = S19_Social Science_Q084]
2. 2 [Option ID = 442]

3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

55)



Match the following and choose the appropriate option,

(a)  Analytical Rubric (i) Containing performance descriptors and learning
outcomes.

(b)  Checklist (if) Single scale but detailed performance descriptors

(c)  Holistic Rubric (iii)y Binary scale but detailed performance descriptors

Options :

(1) (@), (b)-(i), (c)-(iii)
(2)  (a)-(i), (b)), (c)-(iii)
(3)  (@)-(i), (b)-(iii), (c)-(ii)
(4) (@), (b)-(iii), (c)-(i)

Frefafas #i gifaa i 3in sogw fame gf

(a) Taweomens wAfE () WeYE AviE ol sfum fred foo g
(b) wiEgs (i) R T o T weE v
(c) THUTEH EAE (iii) et 5 T Foega wewls @i

fa=eg .

(1) (a)-(i), (b)-(ii), (c)-(iii)
(2)  (a)-(ii), ()-(i), (c)-(iii)
(3)  (a)-(i). (b)-(iii), (c)-(ii)
@) (@), (b)), (c)-()

[Question ID = 112][Question Description = $19_Social Science_Q085]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

56)

Which of the following questions assess the application aspect of cognitive process 7

(A)
(B)

What were the reasons for the revolt of 1857 7

State one difference between economic activities and non-economic activities. Give
suitable examples.

(C)  What are direct taxes ? Give examples.

(D) Many nations in South Asia are not federal systems of governance. Explain.
Options :

(1) (A). (B) and (C)

(20 (B), (C) and (D)

(3)  (A), (C) and (D)

(4)

(A). (B) and (I¥)



frefafaa § 9 F5 A woq darer uisEa & ' aquEm’ uge # o w § 2

(A) 1857 % foele & =0 Frw 4 ?

(B) anfeisr nfafafidl s in-snfifs nfafafual & ¥ v o fofied ) svge semm e
(C) weasl =T 0 7 e <ifsm

(D) =feodt ufern § % 3w § wmee % gt o3 98 &1 smen wifaw)

fawe :

(1) (A), (B) 3 (©)
(2) (B), (C) ¥ (D)

(3 (A), () ¥R (D)
(4)  (A), (B) 3 (D)

[Question ID = 113][Question Description = $19_Social Science_Q086]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]
57)
Which of the following questions assess only the factual knowledge of learners ?
(A) Define climate and season. What are main seasons in India ?
(B) Give three differences between the way villages are managed today and in time of
mahajanapadas.
(C) How presence of tlora and fauna atfects the formation of humus ?
(D)  What do you understand by the people as a resource 7
Options :
(1) Only (A)
2)  Only (A) and (B)
(3) Only (A), (B) and (C)
(4)  Only (B), (C) and (D)



frefafian | %9 9 gy, el & Fam somm T F o w0 F 7
(A) wETErg 3R HEE i i it s i gEm A FEA A E ?
(B) = % WHA H 30 WEIoFvel & HHA H TiE| S oFaw] 4 | o4 et gt
(C) oeafa s o wiftn s 6t ufeerfs @ & fofn w frg vor yue g € 2
(D) o 1 WA F wY H e #0409 7 geen E 7
T :
(1) Fa9 (A)
(2) FEE (A) 3R (B)
(3) A (A), (B) ¥ (C)
(4) = (B), (C) ¥ (D)
1[Q:1([e;:)1t<]);1 |Ig :415; ]4][Question Description = S19_Social Science_Q087]
2. 2 [Option ID = 454]

3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

58)

Which of the following are required to develop evaluation procedures according to the
RTE Act 2009 ?

(A) All round development of the child

(B) Connecting from local to global aspects of knowledge

(C) Learning through activities, discovery and exploration
(D) Learning in the child friendly and child-centered manner
Options :

(1) Only (A), (B) and (C)

(2)  Only (B). (C) and (D)

(3)  Only (A), (C) and (D)

(4)  Only (A). (B) and (D)



AL THR 2009 F ATHR AEeH GEA w1 fawfmm w6 F fou frefafes § @ e
YT A E ?
(A) == = mEhTm fawra
(B) M & A § divas® qeesl &1 ST
(C) Torardamdl, @ Ud =T g HiE
(D) re-T1El 3 are-shiza dfa § drea
fa=ea :
(1) = (A), (B) R (C)
(2) #dd (B), (C) #R (D)
(3) #=E (A), (C) ¥R (D)
(4) FA€ (A), (B) 3 (D)
1[Q:1?;;1t?; |I|; ==415; ]!')][Question Description = $19_Social Science_Q088]
2. 2 [Option ID = 458]

3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

59)
Assessment is done in schools for the following reasons. Choose the appropriate option.
(A) Certifving students of their learning achievement
(B) Understanding the learning difficulties faced by the students
(C) To make teachers accountable to the school
(D)  To find out the ways and means to overcome the learning difficulties
Options :

(1) Only (A)

(2) Only (A) and (C)

(3) Only (A), (B) and (D)
(4) Only (O)



farerdi § smerer Frfafan smol 3 o s 2 3vgs fases 1 999 #ifm)

(A) il =1 S s Hes suaferl 1 g w3 & o

(B) Temnfei gru Fom sifirm waivlt sefemmeal =1 amn e 0 3= wae & foo
(C) Tmerl =1 faeners & Wi Sweerdt =91 = fom

(D) sfepm gadt wfadal 8 3w % fom ad=i o @yl %1 9@ %39 & fog

ey -

(1) e (A)

(2) € (A) 3R (©)

(3) ¥ (A), (B) ¥R (D)

(4) = (C)

[Question ID = 116][Question Description = S19_Social Science_Q089]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]
60)
Which of the following questions assess mainly the social science learning outcome -
“Develop the capacity for empathy/appreciation and sensitivity” ?
(A) Describe the ways to restore ground water in your area.
(B) It is becoming very difficult to protect India’s heritage sites. Do you agree with this
statement 7 Justify.
(C) A large section of India’s rural children are undernourished. Explain.
(D)  What are hindrances in national integration ?
Options :
(1) Only (A). (B) and (C)
(2) Only (B) and (C)
(3} Only (C) and (D)
(4)  Only (A), (C) and (D)



frefafea o | 5 4 v ger: anfes fagm F oafem freed - aeayfa o siw
dagagieral & fawm ¥ 9 = faem"  aen #1087
(A) =4 &= W o 5w 1 [EETE w1 5 fafuei = s wife

(B) WA % Ui T4+ 1 e HTA1 Acia R S o 181§ | T A 5 FYA | Hewa
£ 7 gemfg =ifem)

(C) IR & T4l % U 98 9 & o= Fuoa § ) = Fifa |
(D) T % TR H RE-E A ?

fa=ea :

(1) %€ (A), (B) 3 (C)

(2) & (B) 3R (C)

(3) FA (C) ¥R (D)

(4) = (A), (O) ¥R (D)

[Question ID = 117][Question Description = S19_Social Science_Q090]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

Topic:- HIN_Q91-99_L1_P2_S1_CTET

1)

faw 0 TNy W saHYHEeE ufeu W U T uvE & e el Sugen faeen @ wme
whitera |

T S St 1 o R3O T B UF F 9E UF w0 A @ T £ 99 H ) 59 1 5 am g
T T TN F P H R AEEE B H TEE 970 @6 § TEE  wA
srsiha %1 foranm & e & ol et weea e 89 e 81 fR-wfafes sfuss g, afis
e =1 3 a0 w1l e feamd @ sifa wfafean e, 3 w8 e aefas @ =5 i
ga &1 9 7 sAfEn 5@ A s HE 4 F ) @ wad ee S S0 SiaAde S S S
e i st drgd s @ gaw =t

‘o 1 e o o aE 2 8 A -
(1) T =1 = |nie 2 §

(2) A ==9E T

(3) T WEd WA A e

(4) T I e e wE R

[Question ID = 118][Question Description = S19_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 469]



2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

2)

fau o e @t sarigdes ufew qur 9B T wee & fem wed Suge fawen w wee
ThiTa |

WA e RS HE AR € U F A U e AW # R € ) 9 A ae
7] T T AN H [ F H R HAES B H TEH IR0 @ § 1 T w0 w5
s o forrm 2 s & ol ol waera yfte 89 e 21 fa-wfafen sfuss g, afus
feim & 3in s 3l sife fa=md @ sifa wfafean %o, 3 wa e aefas @ 5 af
TEAH §1 9 7 THfE T 5 5 Ha d ¥ A wEl e s s siaede w9 w5
=ifen, &t A Syl sEdl F guRe =i

T I W4l @i 1 0 A F -

(1) wHfEE w9 4 fafera & = &

(2)  HHfEE Gl S # S E

(3) wHfE w9 W wgd o ufony foew §
(4) WHEE F9H 9gd i e &

[Question ID = 119][Question Description = S19_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

3)



faw 0 TNV T sAHYdeE ufeu Fun U T wR & e wed Sagen fawew @ wme
TRt |

T i e RS H AR € U A U e AW # e € ) w6 A ae
T ITHHI T AN F T FC F R AAES B H TEHR IR0 @ § 1 T w0 wA
STsTRal =1 TR & s & oI T weea yfae 86 e 8 fen-wfafen e g, afus
feim & 3in s 3l sife fa=md @ sifa wfafean %o, 3 wa e aefas @ 5 af
A £ 1 9H T e gl U w1 A wEd v A9 S0 St F1 s we
=ifen &t A Syl sEdl F guRe =)

WS 1 G HA # U W -
(1) ¥ % STHR =

(2) A AW A A

(3) =T = TRl

(4) WA =l A wE

[Question ID = 120][Question Description = S19_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

4)

faw 0 TNy W saHYHEeE ufeu W U T uvE & e el Sugen faeen @ wme
el

T S St 1 o R3O T B UF F 9E UF w0 A @ T £ 99 H ) 59 1 5 am g
T T T RN F P H ARG AEES B H TEE 970 A6 # T5E  wA
srsiha %1 foranm & e & ol et weea e 89 e 81 fR-wfafes sfuss g, afis
e =1 3 a0 w1l e feamd W sifa wfafeen e, 3 w4 e aEfes @ =5 i
TEA £ 1 UH 7 THE gH W w1 A wes e 9] S0 St Fi s e
e i st drgd s @ gaw =t

TGS = ) THEEE T aTel T -
(1) =AfueR Hr=a

(2) Afeer e &

(3) = smd « wfafewa <3

(4) Tl =@l =1 gurn

[Question ID = 121][Question Description = S19_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 481]



2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

5)

faw o weer Wt eargeE ufegw Auv g@ U wyw & fow wed sugen fawew &
T |

T 1 Tl i M IS H TE 81 U 3 9IS U A AT 6 Ted € WA H | WA @ e o "
1 IHH! 7 TR 1 Y0 A H R0 HAEE B9 W EE 9o @6 § 39y g wA
SISl 1 TR 8 S & i e ge=a e 8 o § 1 fea-wiaten sifies S, st
feim =1 3 s At sie faanl v stfy sfefea =0, 3 99 ot oefos aes 51 3fa
TEd &1 99 7 afee 38 o g ¥ O Tad e A9 91 Stadet s
Ffen iR AT S| A H HUEA e

“wyran  nfee R E -
(1) zafaes @
(2) ¥ I ==
(3) oFTie 9|

(4) F=I T

[Question ID = 122][Question Description = S19_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

6)



fau o ey Wt carigEes ufen qur 4P T wee & fom wes Sugew fawen & wee
EaiEd

T w1 e i o 1S = A ¥ U F A U e A # wd oA ) AW e
41 FHHT B EAe 1 G0 w6 e gEeE 9 3 wdw i @t ¥ sHE s A
ST %1 TR 81 S € S 3Rl wH=Ta1 Hfue 8 ol g1 fA-wiates s g, sts
fim = 3 s goft sie el w sifa sfefen =, 3 99 i oefas s =5 af
TEad €1 ud 3 refen @ am ) w1 ¥ o ged T w9 s Sitaededt F e e
fen i A9 vl sTedl &1 R =)

TEY % SR 99 1 # H 9y 7
(1) =iaq =i =Enef 8§ 1 9

(2) SirE o A L g6

(3) SfEA WA % aiE | guR

(4) a1 F wHIR JE

[Question ID = 123][Question Description = S19_Hindi Content/Pedagogy_Q096]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

7)

fau o e Wt cagEss ufen qur 4B T wee & few we suges faswen w1 wae
it |

T 1 ol i o IS G T § 1 U o A0 U S S Ted § 99 W ) w9 1 S A A
1 IHHT B AR ®1 G0 HA w Bew meteE 9§ @ uftom @t ¥ s s e
ST %1 Tom 81 S € 1 el we=ian sfve € o 81 fe-wfafes sifuss |, sitvs
fam =7 3 =19 1 sis faand w sifs sfofen o=, 3 99 o oefos =@ =1 afq
e 21 uH 7 gufan @ uen w5 w/A S ¥ 9 e e o A0 staaden s H
=fen 3T A9t Sqv] SATEwl 1 U 9iE)

Aol syl | e # -

(1) s==ai =i = | =

(2) Fd= ad 4

(3) A9 FI WAR F

(4) Al F1 TEIIE] F HEHE FA

1[Q1L|¢[a;ti9n |I|; =419 §]4][Question Description = S19_Hindi Content/Pedagogy_Q097]

2. 2 [Option ID = 494]

3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



8)

faw T My w1 samgEE ufew we 4P Tw wyR & feo wed Sugen faeew @ W
it |

T i weerdl i o RIS G AE § 1 U F A U S A 1 Ted © 99 W | 99 1 S AW 9
41 FTEHT T EAe ] GO HA w109 qEES 9§ 9@ 9iom @ ¥ 6 s A
ST %1 TR 81 S € i arl wH=Ta yfve 8 o 81 fA-wfafes sifuss S, s
faa w1 afw v 99 sie faand = ofefen ==, 3 o8 oon oefos S 51 af
a2 v 3 gofen o ae w wa & ¥ o wed wwe anven st sitaeded # owe e
i 3T A9 Sraqe] STl S gUE =ife)

Terdram-farsrer =1 SaweTw & -
(1) =fes dr=m

(2) =g smed

(3)  SrEdrE

(4) W I SATEERA
[Question ID = 125][Question Description = S19_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]

3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

9)

feuw o ey W1 cavgEes ufen quT Y9 T Wy & fom wew sugen fawe & wae
EaiEd

T 1 S o I G A B U ¥ A UF e A A R A W w1 AW w9
1 I B EAEY 1 G0 H B getes w9 8 s uftom et ¥ s awn e
ST 1 TR 81 S & S S TE=Ta 4i0e 89 @ @ | feA-wiates sifes |ree, st
fm = 3R 3 [t s faanl W sfe wfafrn =, 3 98 o aefes @ 51 ot
e 21 uH 7 gRfen T8 a5 wHa & ¥ O e e 0 A9 Saadielt F1 we
=fen 3 9= Sroqe] SEe 1 guEA =i

‘fom’ v 4 = T EeEm AdE E -
(1y T
(2) fefa
(3) g
(4) fedamd

[Question ID = 126][Question Description = S19_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]



Topic:- HIN_Q100-105_L1_P2_S1_CTET

1)
feu 7o ey @t vegdes ufew Aur U@ o wye & fom wes suge fawen @ wae
it |
T fEsal & =t 2mn
#R wva T
&\ E E T 6 wad e
w9 gt i w2
i =i -
STl T T8 A A aEl §
N 0 6 HL T |
e | A A e e e |
Sit srfrr HfeE, Afvae, awnei
Rrdengics oo iy

wfaa o fam w5 =i w= i &2

(1) T &= 3 @i &

(2) A" i A0 w9 =l Sl

(3) = 9H A 9 Al w

(4) wAafee g fam =1 frofo &0 T #i
1[Q:1¢[acs;ti9n |||g =510 §]7][Question Description = $19_Hindi Content/Pedagogy_Q100]
2. 2 [Option ID = 506]

3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

2)



for 7o wrexiyr =t cargdeE ufew wur g@ v wyw & fow wen soge fawew W A
it |
w1 faesl F =
#H FqvE o T
™ # & = & wad e
A Yt F O FE
3 G -
YA T TR 9 4 3w
SfEt N e 1 |
BH AT AT AT F 2 @i A
Sl ST Hfgrsdl, qivwe, A =i
R & T T4 F1 9

i F AN T FE N Al © T -

(1) =t = framd gedvie =0 €

(2) e & Frarh s g wa §

(3) At & fram T off o = s e
(4) At % Fram vea 4o wd E

[Question ID = 128][Question Description = S19_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

3)



fau T wrew w eAgEe afen AuT 9@ T weR & o wen g fawea @ A
it |
w9 faes F a2
A v T T
™ § =0 & wad e
4 g H FHE T
S T -
YA T TR 9 4 3w
SfEt % e 1 |
BH AT AT AT F 2 @i A
Sl ST Hfgrsdl, qivwe, A =i
R 1 T T4 F1 90

T T U T o S e e -

(1) T2 oeigt a7t %1

(2) o =im faergs qon 9% 9

(3) o =i ErE A Fe o E

(4) Tl gl % fomu ue st =
1['Q:1<[e;;itci>or; |||; ==511§;)][Question Description = S19_Hindi Content/Pedagogy_Q102]
2. 2 [Option ID = 514]

3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

4)



for 7o wrexiy =t A ufew A9 9B 0 wvn & fem wen sagem faeew = e
it |
07 fasst ¥ amw &
#r wvE T &
™ # & = & wad e
4 gl H FHE T
i | -
YA T TR 9 4 3w
SfEt N e 1 |
TH 9T ST AT & o Wi ar
Sl A wioedl, qfeFal, A Hi

R T TR 997 FHiT 90|

yrdl o fRan &im e €7

(1) =

(2) s

(3) wFHI

(4) TR
[Question ID = 130][Question Description = S19_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

5)



for 7o wrexiy =t A ufew A9 9B 0 wvn & fem wen sagem faeew = e
it |
w1 faesl F =
#r wvE T &
™ # & = & wad e
4 g H FHE T
3 G -
YA T TR 9 4 3w
SfEt % e 1 |
TH 9T ST AT & o Wi ar
Sl ST Hfgrsdl, qivwe, A =i
R & T T4 F1 9

a4 = o € -
I

(1) =i

(2) i

(3) =g

(4) TR
[Question ID = 131][Question Description = S19_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]

3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

6)



fau T wrEEY W srAgds ufew Au 9B U uve & faw wes g faeme
it |

T fEes & am gan
#r wvE T &
™ § =0 & wad e
4 g H FHE T
S G -
YAl T T8 9T 4 3EE] |
SfEt % e 1 |
¥ A A AW F 9 = gt
Sl ST Hfgrsdl, qivwe, A =i
R 1 T T4 F1 90
‘“qet” 1 AT I T -
(1) @@=t
(2) ™
(3) T
(4) =

[Question ID = 132][Question Description = S19_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

Topic:- HIN_Q106-120_L1_P2_S1_CTET

1)
T e | gEt =i = W v wufauE 9 g w9 @ gEae F s | #n e 12
(1) H= HW nfaEE
(2) T s fafafy
(3) % i arary
(4) WHHEFD HW TRE
[Question ID = 133][Question Description = S19_Hindi Content/Pedagogy_Q106]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]

3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

2)



T FT w0 A T o a5 Afvses 0 O0g AT T AFe e v o T 7

(A)
(B)
(€)
(D)
(1)
(2)
(3)
(4)

& TH 7 o1 4, I=vd 9 aEEn (fBfE) #\19-n w°l
w18 & A foendf #1 smEvewa w1 gn wi

Fr W A F o s weE w6

i =4 F ufd SrEET w5

(A). (B). (C)

(B), (C) I (D)

(A), (B), (C) ¥R (D)

(A), (C) ¥ (D)

[Question ID = 134][Question Description = S19_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

3)

frerfefas & foem &4 -

(A) FitEm (p wiasy st Frafoam £ 3

(B) &AM (I) OEEE & Y fqan ) gmtas & €9 ° yeiih w0
(C) S JRAfE= (1) OrFEm o 2 7 9= gaasl & 9 9= | feaaa
(D) =R 7 (IV) T T6H o1 9 g #1 o6 99 9 @

(1) (A)-(1), (B)-(I), (C)-(1) 31 (D)~(IV)

(2) (A, (B)-(1), (O-(1) 31 (D)(IV)

(3)  (A)-(1m), (B)-(I), (C)-(IV) S (D)-(11)

(4)  (A)-(IV), (B)-(D), (C)-(IT) R (D)-(III)

[Question ID = 135][Question Description = S19_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

4)



Fel H e AR 9= 90 F fag W o= W\ 2 ) v famef W fagm F e
el i Fafenell ur s famm A @ @ ¥ 98 W Oy e e v F gam d era 7
(1) P aem
(2) TewEEE] =W
(3) TaweraumeTs gem
(4) TS AEE 0

1[Q:1¢[a;titgn |||3 =514 Z:]6][Question Description = S19_Hindi Content/Pedagogy_Q109]

2. 2 [Option ID = 542]

3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

5)

Frefefaa #e o -
(A} ST oiEd ol F sEaTmad i faend 9 ofifeas v sfonfe smm #)
(B) AV TEA SAAR 9 UISH1 F1 S HIEH & o0 SAEd1gs FIanTe @l g wM o

GRS
(1) (A) =2
(2) (B)w@E

(3) (A) ¥ (B) 21 981 &

(4) (A) 3 (B) 21 e §
[Question ID = 137][Question Description = S19_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

6)

oTe] 1 el H, UE ey i o v wesame 39 € oin Fed @ a9 i e
ga/faam <81 4t vr-2a9 & iy g w0 fandf Fm ysr s wm R ¥

(1) =0Ed 91 T 92

(2) R H 924

(3) TRA i T

(4) Ta=ga v=d

[Question ID = 138][Question Description = S19_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]



" fdiry w3 foam s SR AT ASIE F TR AN =T 2

(A) = fEm
(B) fgm

(C) #1= Hha
(D) T e afiEw
(1) (A), (B) 3T ()
(2} (A), (B) ¥R (D)
(3)  (A) (C) 3R (D)
(4) (B), (C) ¥ (D)

[Question ID = 139][Question Description = S19_Hindi Content/Pedagogy_Q112]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

8)

faeifafa FoE #1938 -

(A) R famdt & =l =1 Sy wa

(B) drEwifem faenfela =t st wfadi i swwsifel 1 gedies w0 # fou defed #wm 2
(1) (A)FE

(2) (B)=E@E

(3)  (A) 3R (B) =1 wE §

(4)  (A) =R (B) = e &

[Question ID = 140][Question Description = S19_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

9)

=AAA (fa=1) =it 59 F+1

(1)

(2)
(3)
(4)

il fenfeEl F w5/l % 91 1 218 IEE SAfvIEEl ) w5 S A9EE
M F

TR faenfEi 1 snee % fon s #1 v gfs F 8
Uil faendl i=a AERer i =Ee B
TRl Fenge iR fEenfdEl i faea famel o s Sm 8

[Question ID = 141][Question Description = S19_Hindi Content/Pedagogy_Q114]



1 [Option ID = 561]
2 [Option ID = 562]
3 [Option ID = 563]
4 [Option ID = 564]

A wpN =
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[Question ID = 142][Question Description = S19_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]
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1[Q:1¢[e;titgn |I|; =516 :]3][Question Description = S19_Hindi Content/Pedagogy_Q116]
2. 2 [Option Ip = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]
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[Question ID = 144][Question Description = S19_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]
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1[Q:1?;titgn |||; =517 ‘;]!')][Question Description = S19_Hindi Content/Pedagogy_Q118]

2. 2 [Option ID = 578]

3. 3 [Option ID = 579]
4. 4 [Option ID = 580]
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[Question ID = 146][Question Description = S19_Hindi Content/Pedagogy_Q119]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]

3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
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(1)  (A)- (1), (B) - (1), (C) - (111}, (D) - (IV)
(2)  (A) - (1), (B) - (AV), (C) - (1), (D) - (1)
(3) (A - (D), (B) - (11T, {CT) - (IV), (D) - (1)
(4)  (A) - (ID), (B) - (IV), (C) - (1), (D) - (1)

[Question ID = 147][Question Description = S19_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

Topic:- ENG_Q121-128_L2_P2_S1_CTET



1)

Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

L.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone,

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures | would find there. 1
went off to take my first pictures of sea anemones and starfish. | became keen very
quickly. Obvicusly [ didn’t have much money in those days, so [ did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. [ had no ambition at all to be a
photographer then, or even for some vears afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier.

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
maore difficult for the professional wildlife photographer,

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyvable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

The narrator got her first camera after she graduated.
Why did her father get her a camera ?

(1)
(2)
(3)
(4)

she wanted to learn photography.

her grandmother wanted her to click pictures of sea anemone and starfish.
her father thought it was a good idea for her to have one,

she needed a tool to record what she had seen.

[Question ID = 178][Question Description = S19_English Content/Pedagogy _Q121]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

2)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2. 1 got my first camera from my father after I'd graduated, when [ had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so [ did more black and
white photography than coloured, but [ was still using the camera as a tool to record
what | found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some years afterwards.

. Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier.

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

3.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

The narrator did more black and white photography than colour because
(1)  she could not afford coloured prints,

(2) she did not have a good camera.

(3) she did not like coloured photographs.

(4) she considered colour photographs to be absolutely useless.

[Question ID = 179][Question Description = S19_English Content/Pedagogy_Q122]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2. 1 got my first camera from my father after I'd graduated, when [ had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so [ did more black and
white photography than coloured, but [ was still using the camera as a tool to record
what | found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some years afterwards.

. Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier.

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

3.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Why does she feel more patient now ?

(1)  life has become more difficult now,
(2) she does other things while waiting,.
(3) she had got used to waiting,

(4) she knows the result will be worth it.

[Question ID = 180][Question Description = S19_English Content/Pedagogy_Q123]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2. 1 got my first camera from my father after I'd graduated, when [ had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so [ did more black and
white photography than coloured, but [ was still using the camera as a tool to record
what | found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some years afterwards.

. Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier.

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

3.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Wildlife photography is important because it can make people realise that
(1) photography is an enjoyable hobby.

(2) wildlife needs to be conserved.

(3) it is worthwhile visiting the countryside.

(4) there are good earnings in this profession.

[Question ID = 181][Question Description = S19_English Content/Pedagogy_Q124]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2. 1 got my first camera from my father after I'd graduated, when [ had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so [ did more black and
white photography than coloured, but [ was still using the camera as a tool to record
what | found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some years afterwards.

. Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings o make them prettier.

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

3.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Why is she unlike many other wildlife photographers ?

(1)  she likes to photograph both plants and animals.

(2) she knows the best places to find wildlife.

(3) she tries to click the best, attractive poses of the animals.

(4) she takes photographs which record actual natural conditions.

[Question ID = 182][Question Description = S19_English Content/Pedagogy_Q125]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2, [ got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obvicusly I didn’t have much money in those days, so [ did more black and
white photography than coloured, but I was still using the camera as a tool to record
what | found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings o make them prettier.

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
mare difficult for the professional wildlife photographer.

5.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

L

The narrator finds it more difficult to photograph wild animals in current scenario
because

(1) there are fewer of them now.

(2) they have become more nervous of people.

(3) it is harder to find suitable places to take photographs.
(4) they have become frightened of cars.

[Question ID = 183][Question Description = S19_English Content/Pedagogy_Q126]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2, [ got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obvicusly I didn’t have much money in those days, so [ did more black and
white photography than coloured, but I was still using the camera as a tool to record
what | found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings o make them prettier.

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
mare difficult for the professional wildlife photographer.

5.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

L

Which of the following words is similar in meaning to the word, "alter’- as used in the

passage ? (para 3)
(1) amend

(2) develop
(3) change
(4) adjust

[Question ID = 184][Question Description = S19_English Content/Pedagogy_Q127]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when | stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone,

2. 1 got my first camera from my father after I'd graduated, when [ had to go diving in
Norway and needed a method of recording the sea creatures | would find there. |
went off to take my first pictures of sea anemones and starfish. | became keen very
quickly. Obvicusly I didn’t have much money in those days, so [ did more black and
white photography than coloured, but [ was still using the camera as a tool to record
what I found both by diving and on the shore. | had no ambition at all to be a
photographer then, or even for some yvears afterwards.

o, Unlike many of the wildlife photographers of the time, I've tried from the beginning

to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural

surroundings to make them prettier,

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

5.  Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjovable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now,

Which part of speech is the underlined word in the sentence given below ?
“Obviously, | didn't have much money in those days”.
(1) Preposition
(2) MNoun
(3) Adjective
(4) Adverb
[Question ID = 185][Question Description = S19_English Content/Pedagogy_Q128]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

Topic:- ENG_Q129-135_L2_P2_S1_CTET
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

“Your daughter’s marriage! 1 have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some pecple are ruined by the dowry.”

“Why do you say some people? Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 7” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

What led Kanda to keep all his property and belongings as a mortgage ?

(1)
(2)
(3)
(4)

He had to give dowry to all his daughters.

Margayya cheated on Kanda.

It was imperative to take loan for his daughters’ marriage.
He spent money in gambling and drinking,.

[Question ID = 186][Question Description = S19_English Content/Pedagogy_Q129]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

2)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.  "Your daughter’'s marriage! | have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance, He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

2.  Inorder to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

3.  "Why do vou say some people?” Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

4. “Butis it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 77 said someone. " And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

What was the reaction of villagers on the appeal of Margayya to raise joint-loan for
Kanda ?
(1) sympathetic
(2} cooperative
(3) supportive
(4) indifferent
[Question ID = 187][Question Description = S19_English Content/Pedagogy_Q130]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]

3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

How
(1)
(2)
(3)
(4)

“Your daughter’s marriage! 1 have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some pecple are ruined by the dowry.”

“Why do you say some people? Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 7” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

does a man with three daughters become bankrupt ?

as the size of the family is bigger.

few earning members in the family in comparison to non-earning ones.
wealth/savings spent on daughters’ marriage and dowry.

daughters’” husbands also starts living with them.

[Question ID = 188][Question Description = S19_English Content/Pedagogy_Q131]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

“Your daughter’s marriage! 1 have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance, He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some pecple are ruined by the dowry.”

“Why do you say some people? Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 7” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

According to the passage, who has been blessed with three lives ?

(1)
(2)
(3)
(4)

A man who begets a son.

A man who begets a daughter

A man who begets both son and daughter
Margayya and Kanda

[Question ID = 189][Question Description = S19_English Content/Pedagogy_Q132]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

5)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.  "Your daughter’'s marriage! | have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance, He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

2.  Inorder to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

3.  "Why do vou say some people?” Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

4. “Butis it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 77 said someone. " And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

Which of the following words is similar in meaning to the word, "protestation” as used in
para 1 of the passage ?
(1) do not approve of
(2} do not agree to
(3) do not think about
(4) both (1) and (2) above
[Question ID = 190][Question Description = S19_English Content/Pedagogy_Q133]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]

3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

6)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

“Your daughter’s marriage! 1 have to find vou the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance, He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

“Why do you say some people? Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 77 said someone. " And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

Which of the following words is opposite in meaning to the word, ‘ruined’ as used in
para 2 of the passage ?

(1)
(2)
(3)
(4)

constructed
repaired
preserved
protected

[Question ID = 191][Question Description = S19_English Content/Pedagogy_Q134]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

7)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

3

“Your daughter’s marriage! 1 have to find vou the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance, He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partmer for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?"someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

“Why do you say some people? Margayya asked. “Why am [ here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found

husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth 7" said someone. “ And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

Which part of the following sentence contains an error ?

Many people / has been ruined / because of / the dowry system

(A) (B) (€) (D)

[Question ID = 192][Question Description = S19_English Content/Pedagogy_Q135]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

Topic:- ENG_Q136-150_L2_P2_S1_CTET

1)



Consider these statements -
(A} The silent way considers language learning as a mental activity.
(B) According to the ‘Silent Way' learner is a scientist or explorer building up his/
her understanding of language from exposure to and experience of it
(1) (A) is right but (B) is wrong,
(2) (B) is right but (A) is wrong,
(3) (A) and (B) both are right and (A) is the cause of (B).
(4) (A) and (B) both are wrong,
[Question ID = 193][Question Description = S19_English Content/Pedagogy_Q136]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

2)

In a language classroom the relationship between teacher and student should be

(1) teacher as expositor and student as listener

(2) teacher as authoritative and student as silent recipient
(3) teacher and student as partners in learning language
(4) teacher as guide and student as follower

[Question ID = 194][Question Description = S19_English Content/Pedagogy_Q137]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

3 , 4 1 -
) Which of these is based on counselling-learning theory to teach language ?

(1) Task based language learning

(2) Text based language teaching

(3) Community based language learning

(4) Suggestopedia

[Question ID = 195][Question Description = S19_English Content/Pedagogy_Q138]

1. 1 [Option ID = 777]

2. 2 [Option ID = 778]

3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

4) ‘ . .
The focus of ‘Language across the Curriculum’ is on

(1) teaching language primarily in all classes

(2) teaching language with the help of all subjects
(3) teaching language in specific periods

(4) teaching language with extra-curricular activities

[Question ID = 196][Question Description = S19_English Content/Pedagogy_Q139]
1. 1 [Option ID = 781]



2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

In a classroom a teacher is conducting this drill
Shiva has written the letter.

He wrote it yesterday.

Shiva has completed the novel.

He completed it yesterday.

Hence, his/her focus is on

(1) Structural Practice

(2) Functional Practice

(3) Functional Communication Practice

(4) Social Interaction Practice

[Question ID = 197][Question Description = S19_English Content/Pedagogy_Q140]
1 [Option ID = 785]
2 [Option ID = 786]
3 [Option ID = 787]
4 [Option ID = 788]

HwnN -

6)

In a classroom students are facing difficulty in writing the passage from active to passive
form. After observing the difficulty of students, teacher provides some clues and models
the task. Seeing that students changed the paragraph into passive form.
This is an example of
(1)  Piaget's Theory
(2) Krashen's Theory
(3)  Bruner's Theory
(4) Vygotsky's Theory
[Question ID = 198][Question Description = S19_English Content/Pedagogy_Q141]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

7)
In a classroom a teacher asks the students to complete a story map with the help of some
headings such as - Title of the story, characters of the story, theme, climate and message
etc.
Here the students are involved in an activity of
(1) Cognitive constructivism
(2) Social Constructivism
(3) Behaviourism
(4) Structuralism

[Question ID = 199][Question Description = S19_English Content/Pedagogy_Q142]



1 [Option ID = 793]
2 [Option ID = 794]
3 [Option ID = 795]
4 [Option ID = 796]

A wnN =

8)

In a classroom a teacher discusses a story entitled, "His First Flight” with students and
then asks them to dramatize it, before the class. Here the focus of the teacher is to develop
among students.

(A) Creativity

(B) Communication

(C) Collaboration

(D) Critical thinking

Choose the correct answer from the options given below :
(1) (A), (B) and (C)

(2} (A), (B) and (D)

(3)  (B). (C) and (D)

(4)  (A), (C) and (D)

[Question ID = 200][Question Description = S19_English Content/Pedagogy_Q143]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

? Situational language teaching is based on the premise of
(1) Programming, Practice and Production

(2) Preparation, Presentation and Practice

(3) Presentation, Practice and Production

(4) Preparation, Presentation and Production

[Question ID = 201][Question Description = S19_English Content/Pedagogy_Q144]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

10)



Consider these principles and identify the approach which follows these principles

(A) Teaching explicitly about the structures and grammatical features of spoken and
written texts.
(B) Linking spoken and written texts to the social and cultural contents of their use.
(C) Designing units of work which focus on developing skills in relation to whole texts.
(1) Task based language teaching
(2) Text based instruction
(3) The Lexical approach
(4) Cooperative language learning
[Question ID = 202][Question Description = S19_English Content/Pedagogy_Q145]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
11)
Examine the following tasks and arrange them in order in which they may be carried out

I—_—I.—__I..

(A) Designing learning activities and tasks

(B) Instructing, monitoring and assessing students’ progress
(C) Stating the objectives of the course

(D) Identifving topics, themes and situations

Choose the correct answer from the options given below :

(1) (A) (B), (C) and (D)

(2) (B, (A), (C) and (D)

(3) (€ (D) (A) and (B)

(4)  (©). (B), (A) and (D)

[Question ID = 203][Question Description = S19_English Content/Pedagogy_Q146]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

'Y Which among these is the primary responsibility of classroom teacher ?

(1) Identifying learner’s communicative needs
(2) Selecting the content for teaching

(3)  Grouping learners into different classes

(4) Instructing the learners

[Question ID = 204][Question Description = S19_English Content/Pedagogy_Q147]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]



") Language syllabus is concerned with ,

(1) implementation of educational programme
(2) evaluation of learner’s performance

(3) selection and gradation of content

(4) management of educational programme

[Question ID = 205][Question Description = S19_English Content/Pedagogy_Q148]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

14) Languag& Iearning entails

(1) mastering the elements of language

(2) learning the rules of language

(3) mastering the functional skills

(4) mastering the lexis of language
[Question ID = 206][Question Description = S19_English Content/Pedagogy_Q149]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]

3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

15 - .
) Procedural syllabus of language learming are organized around

(1) grammar

(2) wvocabulary

(3) topics

(4) tasks
[Question ID = 207][Question Description = S19_English Content/Pedagogy_Q150]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]






